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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	D  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.8.2 Weather vs. Climate [99031]
	U55678

	2
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.1 Adaptation [99024]
	U55189

	3
	B  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.1.1 Cell Structures [99019]
	U55522

	4
	B  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.6.1 Moon Phases [99026]
	U55699

	5
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.1 Adaptation [99024]
	U55215

	6
	D  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0407.11.3 Speed [99040]
	U55301

	7
	C  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.9.2 Units of Measurement [99033]
	U55512

	8
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.2.1 Predation / Competition [99020]
	U55473

	9
	C  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.6.2 Moon's Revolution [99027]
	U56549

	10
	B  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.6.2 Moon's Revolution [99027]
	U55722

	11
	A  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.8.2 Weather vs. Climate [99031]
	U55676

	12
	B  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.7.2 Use of Earth Materials [99029]
	D63046

	13
	B  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0407.12.1Magnetic Attraction [99041]
	U55573

	14
	A  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0407.11.2 Motion [99039]
	U56625

	15
	D  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.8.1 Water Cycle [99030]
	U55541

	16
	C  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.9.2 Units of Measurement [99033]
	U55653

	17
	B  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.2.1 Predation / Competition [99020]
	U55497

	18
	A  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.2 Extinction [99025]
	D83065

	19
	A  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.T/E.1 Select Technology [99017]
	U55563

	20
	B  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.7.2 Use of Earth Materials [99029]
	D64376

	21
	A  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.8.1 Water Cycle [99030]
	U56566

	22
	D  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.7.1 Wind & Water [99028]
	U55711

	23
	C  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.1.1 Cell Structures [99019]
	U55667

	24
	A  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.3.1 Energy Pyramid [99021]
	D87045

	25
	B  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.1.1 Cell Structures [99019]
	U55672

	26
	C  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.4.2 Metamorphosis [99023]
	U55503

	27
	C  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.2.1 Predation / Competition [99020]
	U55498

	28
	A  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0407.11.2 Motion [99039]
	U56459

	29
	A  
	Moderate  
	PS 2: Motion, Forces in Nature  
	SPI 0407.12.1Magnetic Attraction [99041]
	U55574

	30
	A  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.10.2 Surfaces & Light [99036]
	U55596

	31
	B  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.9.1 Measure Physical Properties [99032]
	U55192

	32
	B  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.7.1 Wind & Water [99028]
	U55560

	33
	C  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.4.2 Metamorphosis [99023]
	U55637

	34
	A  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.4.1 Reproduction & Survival [99022]
	U55632

	35
	A  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.3.1 Energy Pyramid [99021]
	U55494

	36
	B  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.9.1 Measure Physical Properties [99032]
	U55517

	37
	D  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.9.2 Units of Measurement [99033]
	D102885

	38
	A  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.8.2 Weather vs. Climate [99031]
	U55553

	39
	D  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.1.1 Cell Structures [99019]
	U55669

	40
	A  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.2.1 Predation / Competition [99020]
	D64865

	41
	C  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.10.1 Forms of Energy [99035]
	D58127

	42
	D  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.6.2 Moon's Revolution [99027]
	U55685

	43
	B  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.3.1 Energy Pyramid [99021]
	D63686

	44
	D  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.6.2 Moon's Revolution [99027]
	U55572

	45
	D  
	Moderate  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0407.5.2 Extinction [99025]
	D60382

	46
	A  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.4.2 Metamorphosis [99023]
	U55638

	47
	C  
	Moderate  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0407.T/E.2 Technology Development [99018]
	D101646

	48
	C  
	Moderate  
	PS 1: Matter and Energy  
	SPI 0407.10.1 Forms of Energy [99035]
	U55583

	49
	C  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.8.2 Weather vs. Climate [99031]
	U55555

	50
	D  
	Moderate  
	ES: The Universe, The Earth, The Atmosphere  
	SPI 0407.8.1 Water Cycle [99030]
	U56386
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	Question 1 of 50

	Look at this geographic diagram below. 

[image: image1.png]Pacific
Ocean





What effect will this mountain most likely have on the land region labeled X? 

	 
	 
	 
	 
	 

	[image: image2.wmf]  
	A.
	The mountain will cool the rain and the region will be cold. 

	[image: image3.wmf]  
	B.
	The mountain will increase the rain and the region will be a forest. 

	[image: image4.wmf]  
	C.
	The mountain will carry the rain over and the region will be humid. 

	[image: image5.wmf]  
	D.
	The mountain will block the rain clouds and the region will be a desert. 

	 


	Question 2 of 50

	Which organism uses gills to get oxygen? 
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	A.
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	B.
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	C.
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	D.
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	Question 3 of 50

	An animal cell has all of the following structures except ________ 

	 
	 
	 
	 
	 

	[image: image14.wmf]  
	A.
	a nucleus. 

	[image: image15.wmf]  
	B.
	chloroplasts. 

	[image: image16.wmf]  
	C.
	a cell membrane. 

	[image: image17.wmf]  
	D.
	cytoplasm. 

	 


	Question 4 of 50

	Which phase of the moon occurs around 30 days after the new moon? 

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	full moon 

	[image: image19.wmf]  
	B.
	new moon 

	[image: image20.wmf]  
	C.
	first quarter 

	[image: image21.wmf]  
	D.
	third quarter 

	 


	Question 5 of 50

	Which animal would most likely live in this environment? 

[image: image22.png]




	 
	 
	 
	 
	 

	[image: image23.wmf]  
	A.
	squid 

	[image: image24.wmf]  
	B.
	polar bear 

	[image: image25.wmf]  
	C.
	zebra 

	[image: image26.wmf]  
	D.
	penguin 

	 


	Question 6 of 50

	Look at the table below. 

Car type 

Speed 

Sport Utility Vehicle 

30 km/h 

Sports car 

50 km/h 

Truck 

45 km/h 

Van 

60 km/h 

Which car would travel the farthest in one hour? 

	 
	 
	 
	 
	 

	[image: image27.wmf]  
	A.
	the sport utility vehicle 

	[image: image28.wmf]  
	B.
	the sports car 

	[image: image29.wmf]  
	C.
	the truck 

	[image: image30.wmf]  
	D.
	the van 

	 


	Question 7 of 50

	A student combines 5.2 g of iron with 7.3 g of sulfur to form a compound called iron sulfide. What is the mass of the iron sulfide the student produced? 

	 
	 
	 
	 
	 

	[image: image31.wmf]  
	A.
	5.2 g 

	[image: image32.wmf]  
	B.
	7.3 g 

	[image: image33.wmf]  
	C.
	12.5 g 

	[image: image34.wmf]  
	D.
	14.5 g 

	 


	Question 8 of 50

	Which type of animal might bury acorns that could grow into oak trees? 

	 
	 
	 
	 
	 

	[image: image35.wmf]  
	A.
	wasp 

	[image: image36.wmf]  
	B.
	squirrel 

	[image: image37.wmf]  
	C.
	sparrow 

	[image: image38.wmf]  
	D.
	coyote 

	 


	Question 9 of 50

	Based on the position of the sun, what time of day is it? 

[image: image39.png]




	 
	 
	 
	 
	 

	[image: image40.wmf]  
	A.
	early morning 

	[image: image41.wmf]  
	B.
	late morning 

	[image: image42.wmf]  
	C.
	midday 

	[image: image43.wmf]  
	D.
	late afternoon 

	 


	Question 10 of 50

	Which statement about Earth’s gravity is incorrect? 

	 
	 
	 
	 
	 

	[image: image44.wmf]  
	A.
	Earth's gravity causes objects to fall downward. 

	[image: image45.wmf]  
	B.
	Earth's gravity pulls all objects toward the equator. 

	[image: image46.wmf]  
	C.
	Earth's gravity prevents most objects from floating in the air. 

	[image: image47.wmf]  
	D.
	Earth’s gravity is about the same everywhere on the Earth's surface. 

	 


	Question 11 of 50

	City 

Average Elevation (above sea level) 

Denver, Colorado 

1610 meters 

St. Louis, Missouri 

163 meters 

Nashville, Tennessee 

182 meters 

Miami, Florida 

4 meters 

Based on the information in the table, which city most likely has the coldest climate? 

	 
	 
	 
	 
	 

	[image: image48.wmf]  
	A.
	Denver 

	[image: image49.wmf]  
	B.
	St. Louis 

	[image: image50.wmf]  
	C.
	Nashville 

	[image: image51.wmf]  
	D.
	Miami 

	 


	Question 12 of 50

	Burning fossil fuels releases large amounts of _______________________ into the air which may conyribute to global warming on the Earth.

	 
	 
	 
	 
	 

	[image: image52.wmf]  
	A.
	oxygen

	[image: image53.wmf]  
	B.
	carbon dioxide

	[image: image54.wmf]  
	C.
	air

	[image: image55.wmf]  
	D.
	flames

	 


	Question 13 of 50

	What occurs when the north pole of one magnet is pushed toward the north pole of another magnet? 

	 
	 
	 
	 
	 

	[image: image56.wmf]  
	A.
	The magnets attract each other. 

	[image: image57.wmf]  
	B.
	The magnets repel each other.. 

	[image: image58.wmf]  
	C.
	The magnetic charge on one magnet switches. 

	[image: image59.wmf]  
	D.
	The magnets lose their magnetic properties. 

	 


	Question 14 of 50

	A golf ball would roll most easily across which surface? 

	 
	 
	 
	 
	 

	[image: image60.wmf]  
	A.
	ice 

	[image: image61.wmf]  
	B.
	dirt 

	[image: image62.wmf]  
	C.
	grass 

	[image: image63.wmf]  
	D.
	gravel 

	 


	Question 15 of 50

	What happens during the condensation stage of the water cycle? 

	 
	 
	 
	 
	 

	[image: image64.wmf]  
	A.
	Water falls as rain. 

	[image: image65.wmf]  
	B.
	Water vapor rises. 

	[image: image66.wmf]  
	C.
	Water runs off the land. 

	[image: image67.wmf]  
	D.
	Water vapor turns to clouds. 

	 


	Question 16 of 50

	[image: image68.png]



What unit below will best show the volume of the liquid in the glass? 

	 
	 
	 
	 
	 

	[image: image69.wmf]  
	A.
	inches 

	[image: image70.wmf]  
	B.
	grams 

	[image: image71.wmf]  
	C.
	milliliters 

	[image: image72.wmf]  
	D.
	ounces 

	 


	Question 17 of 50

	What kind of environmental change will most threaten the survival of flowering apple trees in an area? 

	 
	 
	 
	 
	 

	[image: image73.wmf]  
	A.
	a year of warm weather in the area 

	[image: image74.wmf]  
	B.
	the disappearance of bees in the area 

	[image: image75.wmf]  
	C.
	an explosion of the coyote population in the area 

	[image: image76.wmf]  
	D.
	the disappearance of bats in the area 

	 


	Question 18 of 50

	Saber toothed cats hunted giant, elephant like creatures called mastodons. However, eventually both the mastadon and the saber toothed cats died out. The saber toothed cats can be categorized as ______.

	 
	 
	 
	 
	 

	[image: image77.wmf]  
	A.
	an extinct species

	[image: image78.wmf]  
	B.
	a thriving species

	[image: image79.wmf]  
	C.
	a threatened species

	[image: image80.wmf]  
	D.
	an endangered species

	 


	Question 19 of 50

	Travis performs an investigation to measure the speed of a ball. He rolls the ball down each of the ramps below. Which ramp would cause the ball to roll fastest? 
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	A.
	[image: image82.png]Ramp 1





	[image: image83.wmf]  
	B.
	[image: image84.png]Ramp 2
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	C.
	[image: image86.png]Ramp 3
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	D.
	[image: image88.png]Ramp 4





	 


	Question 20 of 50

	Fossil fuels such as coal are classified as a ___________________ resources because they take millions of years to form. 

	 
	 
	 
	 
	 

	[image: image89.wmf]  
	A.
	renewable

	[image: image90.wmf]  
	B.
	non-renewable

	[image: image91.wmf]  
	C.
	constant

	[image: image92.wmf]  
	D.
	living

	 


	Question 21 of 50

	Trees are budding and rain is falling. What season is it? 

	 
	 
	 
	 
	 

	[image: image93.wmf]  
	A.
	spring 

	[image: image94.wmf]  
	B.
	summer 

	[image: image95.wmf]  
	C.
	fall 

	[image: image96.wmf]  
	D.
	winter 

	 


	Question 22 of 50

	The process of breaking rock into silt, sand, clay, and other pieces is called ________ 

	 
	 
	 
	 
	 

	[image: image97.wmf]  
	A.
	erosion. 

	[image: image98.wmf]  
	B.
	faulting. 

	[image: image99.wmf]  
	C.
	deposition. 

	[image: image100.wmf]  
	D.
	weathering. 

	 


	Question 23 of 50

	Look at this diagram of two living things. 

[image: image101.png]Living Organism X Living Organism Y




Which of the following best describes one difference between these two organisms?

	 
	 
	 
	 
	 

	[image: image102.wmf]  
	A.
	Organism X is larger than Organism Y. 

	[image: image103.wmf]  
	B.
	Organism X moves faster than Organism Y. 

	[image: image104.wmf]  
	C.
	Organism X is single-celled and Organism Y is multi-celled. 

	[image: image105.wmf]  
	D.
	Organism X lives in the ocean and Organism Y lives in rivers. 

	 


	Question 24 of 50

	Which of these animals normally eats only producers?

	 
	 
	 
	 
	 

	[image: image106.wmf]  
	A.
	deer

	[image: image107.wmf]  
	B.
	jaguar

	[image: image108.wmf]  
	C.
	hawk

	[image: image109.wmf]  
	D.
	lion

	 


	Question 25 of 50

	Which organism is an example of a single-celled organism? 
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	A.
	[image: image111.png]




	[image: image112.wmf]  
	B.
	[image: image113.png]5SS
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	C.
	[image: image115.png]
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	D.
	[image: image117.png]




	 


	Question 26 of 50

	Some organisms undergo complete metamorphosis and others undergo incomplete metamorphosis. One difference between complete and incomplete metamorphosis is that incomplete metamorphosis ________ 

	 
	 
	 
	 
	 

	[image: image118.wmf]  
	A.
	has four stages. 

	[image: image119.wmf]  
	B.
	has a pupal stage. 

	[image: image120.wmf]  
	C.
	has a nymph stage. 

	[image: image121.wmf]  
	D.
	has a larval stage. 

	 


	Question 27 of 50

	Which animal would help oak trees to become established in an area? 

	 
	 
	 
	 
	 

	[image: image122.wmf]  
	A.
	bee 

	[image: image123.wmf]  
	B.
	mouse 

	[image: image124.wmf]  
	C.
	squirrel 

	[image: image125.wmf]  
	D.
	blue jay 

	 


	Question 28 of 50

	Over which of these floor surfaces would a brick be most difficult to slide? 

	 
	 
	 
	 
	 

	[image: image126.wmf]  
	A.
	carpet 

	[image: image127.wmf]  
	B.
	wood 

	[image: image128.wmf]  
	C.
	concrete 

	[image: image129.wmf]  
	D.
	tile 

	 


	Question 29 of 50

	Which diagram shows how bar magnets will react to each other? 

	 
	 
	 
	 
	 

	[image: image130.wmf]  
	A.
	[image: image131.png]




	[image: image132.wmf]  
	B.
	[image: image133.png]
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	C.
	[image: image135.png]
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	D.
	[image: image137.png]




	 


	Question 30 of 50

	Which drawing shows how a concave lens refracts light? 
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	A.
	[image: image139.png]




	[image: image140.wmf]  
	B.
	[image: image141.png]
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	C.
	[image: image143.png]
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	D.
	[image: image145.png]




	 


	Question 31 of 50

	Which object has the shortest length? 

	 
	 
	 
	 
	 

	[image: image146.wmf]  
	A.
	broom 

	[image: image147.wmf]  
	B.
	pencil 

	[image: image148.wmf]  
	C.
	meter stick 

	[image: image149.wmf]  
	D.
	baseball bat 

	 


	Question 32 of 50

	Because of global wind patterns, weather over the continental United States usually travels ________ 

	 
	 
	 
	 
	 

	[image: image150.wmf]  
	A.
	from north to west. 

	[image: image151.wmf]  
	B.
	from west to east. 

	[image: image152.wmf]  
	C.
	from south to north. 

	[image: image153.wmf]  
	D.
	from east to south. 

	 


	Question 33 of 50

	Complete and incomplete metamorphoses have many differences. Which of the following stages is found only during incomplete metamorphosis? 

	 
	 
	 
	 
	 

	[image: image154.wmf]  
	A.
	egg 

	[image: image155.wmf]  
	B.
	larvae 

	[image: image156.wmf]  
	C.
	nymph 

	[image: image157.wmf]  
	D.
	pupa 

	 


	Question 34 of 50

	What is likely to occur when an endangered species has low offspring numbers? 

	 
	 
	 
	 
	 

	[image: image158.wmf]  
	A.
	The species will be unable to survive. 

	[image: image159.wmf]  
	B.
	The species will mate with other animals. 

	[image: image160.wmf]  
	C.
	The species will learn to survive without reproducing. 

	[image: image161.wmf]  
	D.
	The species will increase the number of offspring in future generations. 

	 


	Question 35 of 50

	Which organism below has offspring that are most similar to the parent? 

	 
	 
	 
	 
	 

	[image: image162.wmf]  
	A.
	amoeba 

	[image: image163.wmf]  
	B.
	eel 

	[image: image164.wmf]  
	C.
	mouse 

	[image: image165.wmf]  
	D.
	guppy 

	 


	Question 36 of 50

	Which unit of measurement would be used for the mass of a paper clip? 

	 
	 
	 
	 
	 

	[image: image166.wmf]  
	A.
	liter 

	[image: image167.wmf]  
	B.
	gram 

	[image: image168.wmf]  
	C.
	centimeter 

	[image: image169.wmf]  
	D.
	millimeter 

	 


	Question 37 of 50

	Which of the following is not a unit of measure in the International System?

	 
	 
	 
	 
	 

	[image: image170.wmf]  
	A.
	grams

	[image: image171.wmf]  
	B.
	liters

	[image: image172.wmf]  
	C.
	meters

	[image: image173.wmf]  
	D.
	pounds

	 


	Question 38 of 50

	Which best describes climate? 

	 
	 
	 
	 
	 

	[image: image174.wmf]  
	A.
	weather patterns over time 

	[image: image175.wmf]  
	B.
	precipitation in an area 

	[image: image176.wmf]  
	C.
	frequency of warm and cold fronts 

	[image: image177.wmf]  
	D.
	current temperatures 

	 


	Question 39 of 50

	Look at this plant below. 

[image: image178.png]



Why is it important that the test tube is left open and near sunlight? 

	 
	 
	 
	 
	 

	[image: image179.wmf]  
	A.
	so that the plant can release its waste out of the water 

	[image: image180.wmf]  
	B.
	so that the plant can release its seeds into the air and reproduce 

	[image: image181.wmf]  
	C.
	so that the plant can get oxygen and energy to make its own food 

	[image: image182.wmf]  
	D.
	so that the plant can get carbon dioxide and energy to make its own food 

	 


	Question 40 of 50

	Scientists found the bones of an extinct prehistoric animal. 

[image: image183.png]



Which bones would provide the best clues about the animal's eating habits?

	 
	 
	 
	 
	 

	[image: image184.wmf]  
	A.
	skull

	[image: image185.wmf]  
	B.
	backbone

	[image: image186.wmf]  
	C.
	leg bones

	[image: image187.wmf]  
	D.
	ribs

	 


	Question 41 of 50
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	There are metal and wooden benches outside at the park on a hot summer day. The metal benches feel hotter than the wooden benches. What is the most likely reason for this?

	 
	 
	 
	 
	 

	[image: image189.wmf]  
	A.
	wood conducts heat better than metal

	[image: image190.wmf]  
	B.
	more of the Sun's heat reflects off the wood

	[image: image191.wmf]  
	C.
	metal conducts heat better than wood

	[image: image192.wmf]  
	D.
	more of the Sun's heat reflects off the metal 
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	Which force is responsible for snow falling to the ground? 

	 
	 
	 
	 
	 

	[image: image193.wmf]  
	A.
	electrical force 

	[image: image194.wmf]  
	B.
	magnetic force 

	[image: image195.wmf]  
	C.
	frictional force 

	[image: image196.wmf]  
	D.
	gravitational force 
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	In this energy pyramid, the snake is a _____________ consumer? 

	 
	 
	 
	 
	 

	[image: image198.wmf]  
	A.
	first level

	[image: image199.wmf]  
	B.
	second level

	[image: image200.wmf]  
	C.
	third level

	[image: image201.wmf]  
	D.
	fourth level
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	This picture shows the heights of a car at different points on a roller coaster. 

[image: image202.png]



At which height is gravity on the car the strongest? 
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	A.
	0 m 

	[image: image204.wmf]  
	B.
	11.0 m 

	[image: image205.wmf]  
	C.
	25.0 m 

	[image: image206.wmf]  
	D.
	72.0 m 
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What is the most likely reason the wooly mammoth became extinct?

	 
	 
	 
	 
	 

	[image: image208.wmf]  
	A.
	It lived near active volcanoes.

	[image: image209.wmf]  
	B.
	It did not survive massive floods.

	[image: image210.wmf]  
	C.
	Its animal predators wiped it out.

	[image: image211.wmf]  
	D.
	It was overly hunted for its meat and furry skin.
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	Incomplete metamorphosis differs from complete metamorphosis because there are ________ 

	 
	 
	 
	 
	 

	[image: image212.wmf]  
	A.
	three stages instead of four stages. 

	[image: image213.wmf]  
	B.
	pupa instead of larvae. 

	[image: image214.wmf]  
	C.
	two eggs instead of one egg. 

	[image: image215.wmf]  
	D.
	reorganizational phases instead of shedding phases. 
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	Which of the following would be most related to the natural world of science?
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	A.
	building new buildings

	[image: image217.wmf]  
	B.
	printing paper money

	[image: image218.wmf]  
	C.
	experimenting with plants

	[image: image219.wmf]  
	D.
	manufacturing cars
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	What kind of energy is transferred when atoms and molecules bump into each other? 

	 
	 
	 
	 
	 

	[image: image220.wmf]  
	A.
	radiant energy 

	[image: image221.wmf]  
	B.
	nuclear energy 

	[image: image222.wmf]  
	C.
	thermal energy 

	[image: image223.wmf]  
	D.
	chemical energy 
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	Which portion of a meteorologist's report on the evening news deals with climate? 
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	A.
	temperature changes throughout the day 

	[image: image225.wmf]  
	B.
	current relative humidity 

	[image: image226.wmf]  
	C.
	average high and low temperatures for that date 

	[image: image227.wmf]  
	D.
	precipitation predictions for the week 
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	During what season does the most snow fall in Tennessee? 
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	A.
	spring 

	[image: image229.wmf]  
	B.
	summer 

	[image: image230.wmf]  
	C.
	fall 

	[image: image231.wmf]  
	D.
	winter 
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